New Maths GCSE: A11 - Sketching Quadratic Graphs in

Factorised Form

y A) y=(x+1)x+2)
B) y=(x-1)x-2)

C)y=@x+1)x-2)

Jﬁ 54 D) y=(x-1ix+2)

E Designed using:
-4 /\utugr-aph
What could the equation of this curve be?
te A) y=x(x +3)

3

B) y=x(x-3)

C) y=x(x +1.5)

o
-4 3 21 N1 2 s D) y=ap—3)
=
s
-3 Designed using:
ﬁu:ugraph
-4
What could the equation of this curve be?
4ty A)y=(x="1)x+2)
3
B) y=(x+1)x-2)
2
//\ C)y=0-x(x+2)
X
4 B 2 M 1 3 4 D)y=@2-xx+1)
~4
=2
-3 Designed using:
& /\utugraph

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:
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Correct Answer: ABCD
What could the equation of this curve be? .
" AT Explanation:
4
: Bipsstedurd | s
5 By g | s
1
I i 1 o D)y=x2-2x
-4 -3 -2 -1 1.2 3 4
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Designed using:
-3 Au\:agraph
‘ Correct Answer: ABCD
" Explanation:
Which of the options below is a possible
Equatlonfor the above graph') --------------------------------------------------------------------------
A ] y = x2 —4x Bl y=x3—4 |
o= x2 —d u y= x3 F 4 | e
\ , Correct Answer: ABCD
\ : Explanation:
Which of the options below is a possible
Equatlonfor the above graph’) ..........................................................................
L o T
y=x%-3 By=x-9
y - xZ _ 9 n y = 3 F x2 ..........................................................................

Correct Answer: ABCD

Explanation:

Which of the options'below is a possible
equation for the above graph?

y=-x 0

y=x
y=_x2 u y=x3 ..........................................................................
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Which of the options below is a possible
equation for the above graph?

y=x° B =
y=1/ B y==x

8
6
2 \

2 a 0 7 2 3 3 5
2

Which of the options below is a possible
equation for the above graph?

B y = (x + 2)2 By=x*+2
y=x%+4 By=x-2)?

5] i [ T ) T B p

Which of the options below is a possible
equation for the above graph?

y==7+x2 B y=x*+7

y=x*+6x+7 | y=7+6x—x?

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD

Explanation:
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